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ʇʨʠʤʝʯʘʥʠʝ:

1.ɺ ʢʦʤʧʣʝʢʪ ʧʦʩʪʘʚʢʠ ʚʭʦʜʠʪ ʩʠʣʦʚʦʡ ʪʨʘʥʩʬʦʨʤʘʪʦʨ ʊʄɻ-400/10/0,4(Y/Yn)-ʄʠʥʩʢʦʛʦ

ʪʨʘʥʩʬʦʨʤʘʪʦʨʥʦʛʦ ʟʘʚʦʜʘ.

2. ʊʨʘʥʩʬʦʨʤʘʪʦʨʥʘʷ ʧʦʜʩʪʘʥʮʠʷ ʜʦʣʞʥʘ ʚʳʧʦʣʥʷʪʴʩʷ ʚ ʙʣʦʯʥʦʤ ʞʝʣʝʟʦ/ʙʝʪʦʥʥʦʤ ʠʩʧʦʣʥʝʥʠʠ.

3.ʇʨʝʜʫʩʤʦʪʨʝʪʴ ʫʩʪʘʥʦʚʢʫ ʰʢʘʬʘ ʫʣʠʯʥʦʛʦ ʦʩʚʝʱʝʥʠʷ (ʢʦʤʧʦʥʦʚʢʘ ʫʣ.ʱʠʪʘ ʩʦʛʣʘʩʦʚʳʚʘʝʪʩʷ

ʦʪʜʝʣʴʥʦ- ʧʨʝʜʦʩʪʘʚʠʪʴ ʩʭʝʤʫ);

4.ʅʠʟʢʦʚʦʣʴʪʥʳʝ ʧʨʠʩʦʝʜʠʥʝʥʠʷ ʜʦʣʞʥʳ ʙʳʪʴ ʚʳʧʦʣʥʝʥʳ ʥʘ ʙʘʟʝ РПС.

5.ʇʨʝʜʫʩʤʦʪʨʝʪʴ  ʪʝʭʥʦʣʦʛʠʯʝʩʢʫʶ ʚʦʟʤʦʞʥʦʩʪʴ ʚʚʦʜʘ ɺʃ-0,4ʢɺ(ʪʝʭʥʦʣʦʛʠʯʝʩʢʠʝ ʦʪʚʝʨʩʪʠʷ(ʠʣʠ

ʢʦʥʩʪʨʫʢʮʠʠ)  ʚ ʟʜʘʥʠʠ ʊʇ);

ʑʠʪ ʫʣʠʯʥʦʛʦ
ʦʩʚʝʱʝʥʠʷ

ʂʘʙʝʣʴʥʘʷ ʚʳʢʠʜʢʘ

ʢ ʙʣʠʞʘʡʰʝʡ ʦʧʦʨʝ

-
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